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MATH 2         Name: ________________________ 

Module 1, Day 6       Date: ______________ Period: ____ 

Binomials, GCF, Sequences, & Quadratics 

Show all your work and reasoning. Use a pencil and highlight your answers. 

1. Simplify the following expressions.  

a)   1352  aa  

 

 

 

 

b)   42  xx  c)   yxyx  24  

d)   5757  tt  

 

 

 

 

 

 

e)  223 x  f)   321 2  xxx  

2. Given each table,  

 Determine whether the function is linear, exponential, or neither. Explain how you know. 

 Determine both the recursive and explicit formulas. If the function is neither, try your best to write 

explicit and recursive formulas.  

a) 

 

 

 

 

 

 

 

Type of function & justification: 

 

 

 

 

 

 

Explicit: 

 

 

Recursive: 

 

 

x f(x) 

3 17 

4 14 

5 11 

6 8 

b)  

 

 

 

 

 

 

 

Type of function & justification: 

 

 

 

 

 

 

Explicit: 

 

 

Recursive: 

x f(x) 

–2 8 

–1 2 

0 0 

1 2 

c)  

 

 

 

 

 

 

 

Type of function & justification: 

 

 

 

 

 

 

Explicit: 

 

 

Recursive: 

x f(x) 

5 40 

6 20 

7 10 

8 5 

3. Find the greatest common factor (GCF). 

a) 23x , 34x , x12  

 

 

b) ba210 , 215ab  c) 2212 nm , nm336  

d) 4317 yx , 6534 yx  

 

 

e) qp59 , ab28 , 225 yx  f) 24724 zyx , 4318 yzx , 249 zx  
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4. Fill in the table to help you graph the function. Be sure to completely label your graph.  

a) 82)( 2  xxf  

 

 

 

 

 

 

 

 

 

 

 

 

x f(x) 

–3  

–2  

–1  

0  

1  

2  

3  

b) xxxf 4)( 2   

 

 

 

 

 

 

 

 

 

 

 

 

 

x f(x) 

–6  

–5  

–4  

–3  

–2  

–1  

0  

1  

2  

c) 82)( 2  xxxf  

 

 

 

 

 

 

 

 

 

 

 

 

 

x f(x) 

–3  

–2  

–1  

0  

1  

2  

3  

4  

5  

d) 56)( 2  xxxf  

 

 

 

 

 

 

 

x f(x) 

–1  

0  

1  

2  

3  

4  

5  

6  

7  

e) 62)(  xxf  

 

 

 

 

 

 

 

 

 

 

 

 

 

x f(x) 

–4  

–3  

–2  

–1  

0  

1  

2  

3  

4  

f) 1
2

1
)( 










x

xf  

 

 

 

 

 

 

 

 

 

 

 

 

x f(x) 

–3  

–2  

–1  

0  

1  

2  

3  

4  

5. From problem #4, which functions appear to be similar? Explain your reasoning.  

 


